

$$x_0 = -\frac{b}{2a} = -1 \Rightarrow b = 2a \quad y_0 = 9 = a(-1)^2 + (-1)b + c \Rightarrow c = 9 + a$$

$$(y_1) \quad 1 = a(3)^2 + b(3) + c = 9a + 3(2a) + (9+a) = 14a = -1 \Rightarrow a = -\frac{1}{14}$$

$$\Rightarrow b = 2a = -\frac{1}{7}, \quad c = 9 + a = \frac{13}{7} \Rightarrow y = -\frac{1}{14}x^2 - \frac{1}{7}x + \frac{13}{7} \quad \text{پ}$$

$$\Delta > 0 \Rightarrow m^2 - 1(m+4) > 0 \Rightarrow m^2 - 1m - 4 > 0 \Rightarrow (m+4)(m-1) > 0$$

$$S = -\frac{b}{a} = -\frac{m}{1} > 0 \Rightarrow m < 0$$

$$P = \frac{c}{a} = \frac{m+4}{1} > 0 \Rightarrow m > -4$$

$$\Rightarrow -4 < m < 0 \quad \checkmark$$

$$S = \frac{1-2m}{1} \quad P = \frac{1-m}{1} \Rightarrow S = \frac{1}{P} \Rightarrow \frac{1-2m}{1} = \frac{1}{1-m} \Rightarrow (1-2m)(1-m) = 1$$

$$(1-2m)(1-m) = 1 \Rightarrow 1 - 3m + 2m^2 = 1 \Rightarrow 2m^2 - 3m = 0 \Rightarrow m(2m-3) = 0$$

$$\Delta = (3)^2 - 4(2)(0) = 9 \Rightarrow m = \frac{3 \pm 3}{4} \Rightarrow m = \frac{6}{4} = \frac{3}{2} \quad \checkmark \quad \text{یا} \quad m = 0 \quad \times$$

$$m = -1 \Rightarrow y = x^2 + 2x + 1 \Rightarrow \Delta < 0 \quad \text{جواب}$$

$$x^2 - x - 4 = 0 \Rightarrow \Delta = 1 + 16 = 17 \Rightarrow x_1 = \frac{1 + \sqrt{17}}{2}, \quad x_2 = \frac{1 - \sqrt{17}}{2}$$

$$\Rightarrow P_{y_1, y_2} = \frac{(x_1^2 + 1)(x_2^2 + 1)}{P} = \frac{x_1^2 x_2^2 + x_1^2 + x_2^2 + 1}{P} = \frac{(x_1 x_2)^2 + (x_1^2 + x_2^2) + 1}{P}$$

$$= \frac{-4 + 1 + 1}{-4} = \frac{-2}{-4} = \frac{1}{2} \quad \text{و} \quad S_{y_1, y_2} = \frac{1}{P} \Rightarrow y^2 + \frac{1}{y} + \frac{1}{y} = 0$$

$$\Rightarrow y^2 + 2y + 2 = 0$$

$$t = \sqrt{x} \Rightarrow (t^2 + \frac{1}{t^2} + 1)(t^2 - 1) = 2t \Rightarrow (t^2 - 1)(t^2 + t^2 + 1) = 2t^3$$

$$\Rightarrow t^4 - 1 = 2t^3 \Rightarrow t^4 - 2t^3 - 1 = 0 \xrightarrow{y=t^3} y^{\frac{4}{3}} - 2y - 1 = 0 \Rightarrow x = 1 \pm \sqrt{2}$$

$$\Delta = 4 \quad \checkmark$$

$$r, r \Rightarrow r^2 = \frac{2}{r} \rightarrow r^2 = \frac{2}{r} \Rightarrow r = \pm \frac{\sqrt{2}}{r}$$

$$\delta \Rightarrow r = \frac{a}{r} \rightarrow a = \frac{r^2}{r} \rightarrow a = r \rightarrow a = 1$$

$$a = -\frac{r}{r} \rightarrow a = -1$$

$$\rightarrow 1 - (-1) = 2$$

6

$$x(ax + 3 + 2a) = 0 \xrightarrow{x=0} x = \frac{-3-2a}{2} \xrightarrow{\text{ریشه دوم منفی نباشد}} \frac{-3-2a}{2} > 0$$

$$\rightarrow \frac{-3}{2} \leq a < 9$$

7

$$x_{\delta_1} = -\frac{a}{r} \quad x_{\delta_2} = -1 \rightarrow -\frac{a}{r} = -1 \rightarrow a = r$$

$$y=1 \rightarrow 1 = x^2 + 2x - 2 \rightarrow x^2 + 2x - 3 = 0 \quad , \quad 1 = -x^2 - 2x + b \rightarrow x^2 + 2x + (1-b) = 0$$

$$\Delta > 0 \quad \checkmark \quad \text{دو ریشه دارد}$$

$$\rightarrow \Delta = -2 - 4(1-b) > 0 \rightarrow 4b > 6 \rightarrow b > \frac{3}{2} \Rightarrow \text{دو ریشه ای غیر منفی} = 3 \rightarrow ab = 2 \cdot 3 = 6$$

$$(1, 2)$$

8

$$r(ax^2 + ax - 4) = 0 \rightarrow \delta = \frac{-a}{ra} = -\frac{1}{r} \rightarrow p = \frac{-4}{ra} = -\frac{4}{a}$$

$$rx^2 - ax + b = 0 \rightarrow \delta = \frac{a}{r} \quad r = \text{ریشه} \rightarrow r + \frac{1}{r} = r + \frac{1}{r} \quad (r + \frac{1}{r})(r + \frac{1}{r})$$

$$\rightarrow \frac{r}{r} + \frac{r}{r} + 1 = \frac{a}{r} \rightarrow a = 1 \rightarrow (r + \frac{1}{r})(r + \frac{1}{r}) = r^2 + \frac{1}{r^2} + \frac{2}{r} =$$

$$\rightarrow \frac{b}{r} = -3 \rightarrow b = -9 \rightarrow \frac{ab}{r} = \frac{1 \cdot (-9)}{r} = -\frac{9}{r} \quad [ab] = -9$$

9

$$\begin{cases} x^2 + 4x + m = 0 \\ -x^2 + 2x - 3m = 0 \end{cases} \Rightarrow rx + rm = 0 \rightarrow x = -m$$

$$\rightarrow m^2 - 9m + m = 0 \rightarrow m(m-8) = 0 \rightarrow x = -8 \Rightarrow x^2 + 2x - 16 = 0$$

$$(x-4)(x+4) = 0$$

$$x^2 + 4x + 16 = 0 \rightarrow (x+1)(x+16) = 0 \Rightarrow 16 - (-1) = 17$$

10

$$\alpha + \beta = \frac{1}{\alpha\beta} \rightarrow \frac{1 - r_m}{\mu} = \frac{\mu}{r - m} \rightarrow r_m^* - d_m - v = 0$$

$$(m+1)(r_n - v) = 0 \rightarrow m = \frac{v}{r} \leq m = -1$$

$$m = -1 \rightarrow \mu_n^2 - \mu_n + \mu \rightarrow \Delta < 0 \quad \text{فوق } x$$

$m = \frac{V}{r} \rightarrow w_n^2 + 4n - \frac{r}{r} \rightarrow \frac{c}{a} \text{ د.} \quad \checkmark$
 قطع، ریشه دارد!

$$x^r - u - F = 0 \rightarrow S = 1, \quad p = -F$$

$$S' = (n_1^r + n_r^r) + \left(\frac{1}{n_1} + \frac{1}{n_r}\right) \leadsto S' = S^r - r^r s p + \frac{S}{p} = (1)^r - (r)(-2)(1) + \frac{1}{-2} = \frac{-21}{2}$$

$$P' = (x_1 x_r)^r + x_1^r + \frac{1}{x_1 x_r} \rightarrow P' = P^r + S^r - rP + \frac{1}{P}$$

$$P' = (-1)^r + 1 - r(-2) - \frac{1}{\varepsilon} = -4r + 9 - \frac{1}{\varepsilon} = \frac{-4r\varepsilon + 9\varepsilon - 1}{\varepsilon}$$

$$u^r - s'u + p' = u^r - \frac{a'}{r}u - \frac{v r_1}{r}$$

α, β, γ سے $\gamma a_n^2 + a_n - 4$ کا $\beta + 1, \alpha + 1, \gamma$ کا $\gamma a_n^2 + a_n - 4$ سے!

$$g = \underbrace{\alpha + \beta + 1}_{-\frac{a}{ra}} = \frac{a}{r} \rightarrow \frac{a}{r} = \frac{1}{r} \rightarrow a = 1$$

$$P = (\alpha + \frac{1}{r}) (\beta + \frac{1}{r}) = \alpha\beta + \frac{1}{r}(\alpha + \beta) + \frac{1}{r^2} = \frac{-4}{r^2} + \frac{1}{r}(\frac{-9}{r}) + \frac{1}{r^2} = \frac{-4}{r^2} - \frac{1}{r} + \frac{1}{r^2} = \frac{b}{r} \rightarrow b = -9$$

$$\left[\frac{ab}{\xi} \right] = \left[-\frac{4}{\xi} \right] = [-1, 0] = \boxed{-2}$$

$$\begin{cases} x^r + a_n - r \rightarrow -\frac{b}{r_a} = -\frac{a}{r} \\ -x^r - r_n + b \rightarrow -\frac{b}{r_a} = -\frac{r}{r} \end{cases} \rightarrow -\frac{a}{r} = -1 \rightarrow a = r \rightarrow \begin{cases} y = x^r + r_n - r \\ y = 1 \end{cases} \rightarrow x^r + r_n - r = 1 \rightarrow x^r = -r_n + r + 1 \rightarrow x = -r \sim M(-r, 1) \\ \rightarrow x = 1 \sim N(1, 1)$$

$$-x^r - r_n + b \xrightarrow[y=1]{x=-r} -9 + 4 + b = 1 \rightarrow b = 6 \rightarrow \boxed{ab = 6}$$